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Course Details.

The business course you are studying is with AQA and the qualification is made up of two different units. These units cover business in the real world, influences on business, business operations, human resources, marketing and finance. 

All units are assessed by exam, both of which are taken at the end of Year 11 and are 1 hour 45 minutes each.  The units you will study are outlined below:
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Exam Dates.
	Paper Title
	Length/ Time
	Marks
	Worth
	Date

	Paper 1 – Influences of operations and HRM on business activity 
	1 hour 45 mins
	90
	50% of your final grade
	 


	Paper 2 – Influences of marketing and finance on business activity 
	1 hour 45 mins 
	90
	50% of your final grade
	




Apps and Websites.
If you are a student wishing to expand your Business knowledge further, keeping up to date with current affairs is important. To do this you need to go beyond your class textbooks. Below is a list of programmes that may be of interest to you. 
· The news
· Panorama (BBC 1)
· Tonight (ITV3)
· Dispatches (Channel 4)
· Question Time (BBC 1)
To support your revision you may also wish to use revision websites and/or apps. Below are some suggests for you. 

For revision content:
	Tutor2u
	BBC Bitesize
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	https://www.tutor2u.net/business
	https://www.bbc.co.uk/education/subjects/zpsvr82
	

	
	
	



The CPG Revision book and workbook is also very useful, as is the Tutor2u workbook – these can all be purchased via parentpay.
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Exam Paper 1 – Influences of operations and HRM on business activity
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· You must use black ink

· You must answer all the questions

· Bring a calculator to the exam for the calculation questions

· There will be three sections to the exam, one multiple choice and two data response sections, each with a case study and set of questions linked to the case study.

· You will need to revise business in the real world, influences on business, operations and HRM.




Exam Paper 2 – Influences of marketing and finance on business activity

· [image: ]You must use black ink

· You must answer all the questions

· Bring a calculator to the exam for the calculation questions

· There will be three sections to the exam, one multiple choice and two data response sections, each with a case study and set of questions linked to the case study.

· You will need to revise business in the real world, influences on business, marketing and finance.



What do I need to revise for Paper 1?

Unit 3.1 – Business in the real world
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Unit 3.2 – Influences on Business
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Unit 3.3 – Operations
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Unit 3.4 – HRM
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What do I need to revise for Paper 2?
Unit 3.1 & 3.2 (Business in the real world & Influences on business) as above.
Also….
Unit 3.5 – Marketing
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Unit 3.6 – Finance
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Let’s get the basics right first:
Things to remember in each exam:
· You will be presented with a number of different case studies / pieces of information: 4/5 questions will be asked that relate specifically to each case
· Each exam is one hour 45 minutes long and has 90 marks
· Timing should be about 1 minute per mark – this then gives you reading time for the case studies. 
· DON’T PANIC! Read each case study very carefully. The best marks are awarded when answers are written in context; context can only be awarded if you have read the case study! Mentioning the name of the business or the owner’s names is not enough for context to be awarded, your answer has to be embedded in the case! This means talk about the business in your answer, but don’t just copy bits from the case word for word; use the case to help support your answer
· Read every question twice – just to ensure that you answer the question that is specifically asked and not a different question!
· Never cross out workings or rough plans as these can be marked
· Always finish the paper
· Never leave a question blank
· Remember I am an examiner, if you are unsure then ask me and I will help you!!!




	
2 mark questions
· These need to be answered accurately and quickly; do not over answer!

	
	Command word
	Question example
	How to answer?

	What?
	What is meant by organic growth?
	Define the term accurately and fully to ensure that the second mark can be awarded; the second mark could be awarded through the use of an explained example; ideally there should be reference to the case

	Explain… or 
Describe….
	Explain one possible reason why people like Monique set up in business
	State a reason and then explain that reason; use connectives such as “this means that” or “therefore”; or use an example to support the point which is linked to the case.
COMMON ERROR WRITING 2 POINTS RATHER THAN EXPLAINING JUST ONE AS THE QUESTION ASKS; IF YOU USE A CONNECTIVE THE EXAMINER WILL BELIEVE AN EXPLANAITON HAS BEEN GIVEN

	Calculate
	Calculate Tyro Dairy’s Gross profit margin for 2015
	Show all LABELLED workings to the calculation; ensure the answer can be clearly seen by the examiner; DO NOT FORGET £ SIGNS OR UNITS;
NEVER CARRY OUT WORKINGS ON THE ACTUAL CASE, YOU MUST COMPLETE ALL WORKINGS IN THE SPACE PROVIDED; remember each question is scanned separately, so examiners will not see workings located elsewhere on the paper, unless it is on extra sheets!

	List
	List two main sections of a business plan 
OR
List three different stakeholders of the charity shop
	There is no need to write full sentences here; just list two relevant points e.g. the local community, customers; owners – writing any more than this wastes precious time!

	State
	State two legal responsibilities that We-R-Mugs Ltd has to its employees
	Again don’t over answer – just state e.g. Health and safety provision; paying at least the minimum wage… is enough and no more!

	Give
	Give two examples of Expenses that Tyro Dairy is likely to have
	Same as command word state e.g. office expenses; marketing costs






	3 marks
· These are not seen in every paper; but need to be nailed!!!

		Command word
	Question example
	How to answer?

	Explain
	Explain why the charity uses volunteers in the shop and not paid workers 
OR
Explain one reason why Tyro Dairy’s shareholders might be worried about the income statement for the year ending 31 December 2015 in Figure 2.

	One reason should be included that is in context (i.e. relates to the case) that is then explained fully, using connectives such as “this means that...” or “this is important for the charity in their situation because….. And therefore ….”
OR
“One reason that Tyro Dairy’s shareholders may be worried is because….and this means to them that …..and therefore….”
COMMON ERROR IS INCLUDING TWO POINTS – ONLY INCLUDE ONE POINT WHICH IS EXPLAINED FULLY!






	4 marks
· These question are very common.
· There are usually two types, but each have the same command word (very occasionally the command word is describe, but you answer in the same way as below)
· There is also an occasional calculate question that is worth 4 marks

		Command word
	Question example
	How to answer?

	Explain
	Explain two disadvantages to Monique of setting up as a sole trader 

	In this style of question, there will be specific sections given in the answer booklet for you to write your two points:

The points must be distinct from each other and two points must be given

State the point (ideally taken from the context) and then explain that point with connectives

E.g. “One disadvantage would be unlimited liability. This would be a specific problem for Monique because…. and therefore….”

	Explain
	Explain how We-R-Mugs Ltd might use focus groups to see if there was a demand for the novelty mugs
 
	In a question such as this, either two points can be given that are explained with connectives (as above) 
OR
One point is explained in context, but with a full explanation i.e. three sets of connectives e.g. this means that…. therefore…as a result….”

You are aware if your answers are brief! If they are on the brief side, always include 2 points, rather than 1. If you struggle with time, just include one very well explained point.

	Calculate
	Calculate the additional weekly profit the business would make if it produced and sold 5000 novelty mugs every week
	As in the 2 mark question ensure all workings are clearly labelled and shown in the correct part of the exam paper; make the final answer clear and remember units or £’s

Always have a go and write the formula in words, as sometimes there is a mark available for this

However, don’t spend too long on a calculation question to the detriment of the rest of the paper, as it is vital that all questions are attempted






	5 marks
· These question are not as common as 4 marks; there may be one 5 mark question in a paper, if any!

	
	Command word
	Question example
	How to answer?

	Explain
	Explain how Dan could improve his cash flow position 
 
	For a 5 mark question, ideally two distinct points should be given that are written in context and are explained using connectives x 2 for each print e.g. “this means that...” “therefore…” “as a result…” “in turn …”

If you are running out of time then only include one point and make sure you get onto the 9 mark question! 






	6 marks
· There tends to be one 6 mark question in each paper
· These are marked in exactly the same way as a 4 mark question, which is asking for 2 points
· The extra mark is from ensuring that all parts of the question are being answered or that the answer is fully in context of the case

	
	Command word
	Question example
	How to answer?

	Explain
	State and explain two benefits of targeting her ironing service at a market niche. 









OR












Explain two benefits to Tony and Rima of producing a business plan
	In this style of question, there will be specific sections given in the answer booklet for you to write your two points:

The points must be distinct from each other and two points must be given

State the point (ideally taken from the context) and then explain that point with connectives; ENSURE EVERY PART OF THE QUESTION IS ANSWERED!

E.g. “One benefit of targeting her ironing service at a niche market is that there will be less competition. (L1) This is important for Monique as she is a new business (context) she has a better chance of survival if there are no established competitors already operating in the market, as they may have an established customer base (L2) and Monique would find it difficult to then gain her own customers and therefore make any revenue”. (L3) – 3 marks awarded

Another point would then need to be given in order to gain the last 3 marks e.g. in this question another point could be given about higher prices and how then this would specifically benefit Monique

In this question two distinct benefits need to be given but they must be related and explained in context or Tony or Rima otherwise the marks would be capped at the bottom level. The benefits must be clear to them and their business situation.








	9 mark questions
· There will always be three 9 mark questions in each paper
· They will always be the last question that is linked to each specific case
· This is the only time where you need to include a conclusion or judgement
· This is the only time that you would use the words “I think” in your answer
· “I think” should only appear in the conclusion paragraph
· There should be 3 paragraphs in total; 2 analysis paragraphs and 1 conclusion
· Each analysis paragraph should only contain one point, which is explained in context! DO NOT INCLUDE MORE THAN ONE POINT!
· Dependent on the type of question (see below) will determine whether you need pro/cons or just pros etc! DO NOT OVER ANSWER THE QUESTION AS THIS WILL WASTE TIME!
· There are different types of 9 mark questions, but all can be answered in the same way 
FOLLOWING THE SAME STRUCTURE!
· You should be spending 4 minutes writing the conclusion – a nice chunky paragraph



	Command word
	Question example
	How to answer?

	1. Advise

Or 

Recommend

Or

Which 


2 OPTIONS – USUALLY BULLETED
	Jenny is unsure where the best place would be to locate her café. She is considering
two locations:
 the village where she lives
 the shopping centre in the town near to where she goes to school.
Advise Jenny which is likely to be the best option. Give reasons for your advice.


Tony and Rima are planning how to raise awareness of their new business in the local
area. They are considering two options:
a professionally designed website
a series of adverts in local newspapers.
Recommend to Tony and Rima which of these options you think would be most
suitable. Give reasons for your recommendation.


Which of these two options do you believe would be better for Orbital Cycles? Support your answer by referring to Item B 
	No definition

Structure your answer as follows:

Paragraph 1: Pro of first option explained with connectives in context
On one hand locating in the village would be good for Jenny because….. which means ….. and therefore

Paragraph 2: Pro of second option explained with connectives in context
On the other hand locating in the shopping centre would be good for Jenny because….. which means ….. and therefore…
(4 marks available for these two paragraphs)

Paragraph 3: Conclusion
Overall I think:
(w) – choose which one EITHER THE VILLAGE OR THE SHOPPING CENTRE
(w) – why have you chosen that option. Use the phrasing “Not only would it be good because … refer back to the +ve point you have referred to in your earlier paragraph, but also it is good because (additional evidence to support your judgement IN CONTEXT)
(w) – why is it better than the alternative you have rejected… (think about the situation of the business, its finances, its aims) 

CONVINCE THE EXAMINER THAT YOUR IDEA IS RIGHT! THIS MUST BE A DETAILED CHUNKY PARAGRAPH!!! (5 marks are available for the concluding paragraph – over a grade! Remember this paragraph is INCREDIBLY important!)

	2. Advise

1 OPTION
	Jim is concerned about his low profits and unhappy assistant. He is now considering buying a larger and more modern garage in another area of town. Advise Jim on whether this would be a good idea. Give reasons for your advice.

	Paragraph 1: Pro of the idea in question explained with connectives in context
On one hand buying a larger and more modern garage would be good for Jim because….. which means ….. and therefore

Paragraph 2: Con of the idea in the question explained with connectives in context
On the other buying a larger and more modern garage would not be good for Jim because….. which means ….. and therefore
 (4 marks available for these two paragraphs)

Paragraph 3: Conclusion
Overall I think:
(w) – make a decision whether it is good idea or not
(w) – why have you chosen that option. Use the phrasing “Not only would it be the best idea for Jim because … refer back to the +ve point you have referred to in your earlier paragraph, but also it is good because (additional evidence to support your judgement IN CONTEXT)
(w) – why is it better than the alternative you have rejected… (think about the situation of the business, its finances, its aims

	3. Recommend

COME UP WITH YOUR OWN IDEAS
	Recommend the best way for Budget Signs Ltd to improve its cash flow. Give reasons for your recommendation
	Follow the guidance, as for number 1. Instead of the bulleted points come up with 2 (NO MORE) options that would improve the cash flow. 

Give a pro of each, explained in context with 2 x connectives

Then conclude following the 3 w’s approach!


	Discuss
	If it goes ahead with the novelty mugs We-R-Mugs Ltd have decided to ignore the concerns of the sales team and use batch production. Discuss whether this decision will improve the profits of We-R-Mugs Ltd. 

	Follow the guidance, as for number 2. 

1 paragraph explaining why it would improve profits in context and with 2 x connectives

1 paragraph explaining why it would not improve profits in context and with 2 x connectives

Then conclude following the 3 w’s approach!


	Do you think…?
	Do you think that Fine Tune Aerials Ltd should relocate to a larger city? Use Item A to
justify your answer.
	Follow the guidance, as for number 2. 

1 paragraph explaining why they should relocate  in context and with 2 x connectives

1 paragraph explaining why they should not relocate in context and with 2 x connectives

Then conclude following the 3 w’s approach!




Practise your analysis/explanation skills:
Remember in the exam you need to fully explain/analyse your points on all questions, apart from with the command words “List, Give, What is, Calculate”. This means you need to show “2 stemmed analysis” in each of your 2 points included in your answer, which is linked to the CONTEXT.
To practice this skill, complete the following explanations/analyses:
1. This means that the business will gain increased footfall…





2. This means that the business will experience increased sales revenue….





3. This will mean the staff may feel more motivated ….






4. This is good because the cash flow of the business will be improved which is important because….





5. Relocating the business may make the staff feel demotivated because…..



 which is bad for the business because…


6. This means that the staff will work harder which is important because….





7. This effect of this decision may mean the quality of the product goes down, which is bad for the business because…






8. If the business promotes itself more through direct marketing this would be good because….





9. If the business offered more pay on the hourly rate, this could be bad because…





10. If the business can benefit from bulk buying discounts this would be good because…





11. An induction programme would be good for the business to implement because…
Practise your evaluation skills:
Remember the “3 W’s” of evaluation
· Which option
· Why are you going for this option (referring to your previous argument and then adding a new point to support your judgement)
· Why is your option better than the alternative?
[image: ]Read the case below:








Question:
Helen is worried about the competition from the new Starbean coffee shop. She has found a suitable new location in the craft centre next to the castle. This location meets all health and safety standards. 

Advise Helen which location would be the best for her business. Give reasons for your advice. 
	Argument for:





	Counter argument:





	OVERALL I THINK…
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